» &_ Playground
PFS060-Kings Carousel Install ) Eq%gmenté

STEP: 1

Attach spinner handlebars to base of
spinner using three (3) M8%*25 bolts,
six (6) M8 washers and three (3) M8
Lock Nuts. Repeat for remaining
connection points.

STEP: 2

Attach the in-ground mount
support to center spinner mount
using four (4) M10*35 bolts, four
(8) M10 washers and four (4) M10

Lock Nuts.
Repeat for remaining connection
points.

Created By: Gene Flowers

10859 Washington St. Suite Date Modified: 09/12/19

200, Indianapolis, IN

1-800-667-0097
Page 1 of 2



» &_ Playground
PFS060-Kings Carousel Install ) Eq%gmenté

STEP: 3

Dig a 36" wide by 24" deep footing
for the central post of the Kings
Carousel. Install into footing using
concrete.

For additional footing information
see the General Installation
document.

Created By: Gene Flowers

10859 Washington St. Suite Date Modified: 09/12/19

200, Indianapolis, IN

1-800-667-0097
Page 1 of 2





